1. By using standard algorithm (long-division), divide 76 + 2
A. 38
B. 28



You are right! Go to next.



You are wrong! Try again.



2. By using standard algorithm (long-division), divide 75 + 5
A. 15
B. 25



You are right! Go to next.



You are wrong! Try again.



3. By using standard algorithm (long-division), divide 93 + 3.
A. 43
B. 31



You are right! Go to next.



You are wrong! Try again.



4. By using standard algorithm (long-division), divide 148 + 4
A 37
B. 32



You are right! Go to next.



You are wrong! Try again.



5. By using standard algorithm (long-division), divide 132+ 6
A 22
B. 23



You are right!



You are wrong! Try again.



